Warm up questions: Write the answers on page 108
1. If a woman got into a car crash when she was 22 and lost her arm, then had a baby when she was 32 will the child be born with one arm? Why or why not?
2. If a man and blonde hair and his wife has blonde hair and one day the man decided to dye his hair black, what is the probability that their child will be born with black hair?
3. Suzy has a twin sister. They grow up and have kids. Suzy has two sons that aren’t twins does that mean that her twin sister will automatically have twins? Explain your answer. 
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